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AP Psychology

Unit 4: Thinking and Feeling
*Question order is not consistent across assessments.

Lesson 2 – Classical and Operant Conditioning
Quiz
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Lesson 3 – Cognitive and Social Approaches to Learning
Quiz
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Lesson 4 - Memory
Quiz
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Lesson 5 – Cognition Problem Solving and Creativity
Quiz
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Lesson 6 - Language
Quiz
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Lesson 7 – Motivation and Emotions
Quiz
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Lesson 8 – Stress Health and Coping
Quiz
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Lesson 9 – Thinking and Feeling Dropbox Items
Sample Work – Teacher Graded


Lesson 10 – Thinking and Feeling Wrap-Up
Test
[image: ]
[image: ] [image: ]
[image: ] [image: ]

[image: ]
[image: ] [image: ] [image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
Lesson 11 – Thinking and Feeling Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

Athird grader gets a gold star for each spelling test on which she gets 100% right. She
works very hard to get more 100's on the tests. This is an example of

(O A Negative reinforcement

() B. Partial reinforcement

(O c. Primary reinforcement

(O D. Variable interval reinforcement

/(@ E. Positive reinforcement
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+/ Question 2 1 point

Which of the following is a good example of a primary reinforcer?

() A Grades

(O B. Money

(O C. Certificates of achievement
/(@ D. Food

(O E. Diplomas
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+/ Question 3 1 point

A person gets caught driving while intoxicated and is given 2 months of cleaning up a
local park. This is an example of

(O A Negative reinforcement

() B. Removal of privilege

(O . Vicarious punishment
/(@ D. Punishment

(O E. Omission training
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+/ Question 4 1 point

Your cough subsides when you take that tasty grape flavored cough syrup. You always
take the syrup when you have a cough, because it works. This is an example of

() A. Fixed ratio reinforcement

() B. Posttive reinforcement
/(@ C. Negative reinforcement

() D. Partial reinforcement

() E. Secondary reinforcement
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+/ Question 5 1 point ~

The person who was caught driving while intoxicated also loses her driver’s license for 6
months. This is an example of

(O A Negative reinforcement
(O B. Vicarious punishment
O c. Punishment

(O D. Inadvertent reward

/(@ E. Removal of privilege
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+/ Question 6 1 point

Tom's dad died last year. Now, when Tom hears his dad's favorite song on the radio, he
gets teary eyed. Tom's reaction to the song is a typical

() A neutral response

+/ (® B. conditioned response
(O C. generalized response
() D. filial response

(O E. unconditioned response
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+/ Question 7 1 point

Your dog barks when a stranger rings the doorbell. In terms of classical conditioning,
over the course of repeated ringing the doorbell has become a

O A generslized stimulus

(O B. unconditioned stimulus
/@ c. conditioned stimulus

(O D. repetitive stimulus

(O E. neutral stimulus
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+/ Question 8 1 point

Aman just cant stop putting quarters in the slot machine. Although he loses more than
he wins, the sound of the intermittent clinking coins drives him to play more and more.
This is an example of

() A. Fixed interval reinforcement

() B. Variable interval reinforcement

(O . Continuous reinforcement
/(@ D. Variable ratio reinforcement

() E. Fixed ratio reinforcement
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+/ Question 9 1 point

Though you developed a deep-seated fear of psychology in high school, you decide to
major in the subject in college. You feel s if you've conquered your fear. At the start of
your junior year you are suddenly petrified by the thought of enrolling in more upper-
division courses in psychology. This is possibly an example of

O A generalization

(O B. backward conditioning
(@ C. spontaneous recovery

(O D. extinction

O E. discrimination
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+/ Question 10 1 point

*Rewarded behavior is likely to recur” is a simple statement of Thorndike's

(O A Punishment rebuttal

(O B. Reward principle
V(@ C. Lawof effect

(O D. Leaming principle

(O E. Respondent behavior theory
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+/ Question 1 1 point

Judy sees her friend being admired by peers for bullying a smaller child. She then also
bullies the same smaller child. This is an example of

(O A partial reinforcement

() B. latent learning

(O c. overjustification
+/(® D. vicarious conditioning

(O E. insightleaming
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+/ Question 2 1 point

You learned the route to the supermarket as a young child from going on shopping trips
with your parents. When your mom asks you to run an errand for her you have no
problem finding your way there. This is an example of

() A partial reinforcement

(O B. overjustification

(O c. vicarious conditioning
/(@) D. Iatent learning

(O E. insightleaming
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+/ Question 3 1 point

Neuroscientists have recently found a biological basis for observational learning in the
functioning of in the cerebral cortex.

O A thalamic nuclei

() B. feature detectors
/@ c. miror neurons

(O D. Purkinje cells

(O E. motor neurons
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+/ Question 4 1 point ~

If you pay children in kindergarten to make things from modeling clay, and then stop, you
may find that they are less willing to do it for nothing than they were before you ever
started paying them. This is an example of

@ A overjustification
() B. latent learning
(O C. partial reinforcement
(O D. vicarious conditioning

(O E. insightleaming
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+/ Question 5 1 point

Inthe processes of social and cognitive learning are not of central
importance.

O A availability of role models
(O B. imitation

/(@) c. direct punishments or reinforcements.
(O D. vicarious reinforcement

() E. observation
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+/ Question 6 1 point

Kohler's chimp Sultan figured out how to get that tantalizing hanging banana without
extensive operant training. This is an example of

(@ A insight learing
() B. partial reinforcement
(O ¢ overjustification
(O D. Iatent learning

(O E. vicarious conditioning
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+/ Question 7 1 point

Cognitive learning theories differ from strict behavioral ones in that they account for
changesin

O A manifest behavior
(O B. response to contingencies

/(@) c. mentalprocesses
(O D. frequency of responses

() E. associative learning
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+/ Question 8 1 point ~

Tolman's rats learned to run the maze simply by *hanging out" in it. They received no
rewards for learning the maze. When they were able to run the maze just as fast, or faster
than rats that were trained with operant procedures, Tolman presented his findings as
evidence for the existence of

() A modeling

() B. vicarious reinforcement
(O ¢ overjustification

(O D. insightlearning

/(@ E. mental maps
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+/ Question 9 1 point ~

One finding of Albert Bandura's research on observational learning was that

(O A children were encouraged to imitate a role model if they saw that the person
was punished for their behavior

/@ B. children are more likely to imitate actions of a role model of higher status
(O . children would generally not mimic antisocial or violent behavior
(O . children would only imitate behavior that they saw being rewarded

(O E. children actually leared very ltle from watching films and were more likely
toimitate behavior that they witnessed in person
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+/ Question 10 1 point

The process of observing and imitating a specific behavior is called

V@ A modeling
(O B. meme transmission
(O c. insight learning
(O . contingency management

(O E. vicarious reinforcement
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+/ Question 1 1 point ~

Even though you are ecstatic over your new job, for the first month or so you answer your
phone with the name of your former employer’s firm. This is an example of

(O A Transience

/(@) B. Proactive interference
(O C. Retroactive interference
(O D. Misattribution

(O E. Encoding failure
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+/ Question 2 1 point

Tackling multiple choice questions relies primarily on the memory process called

() A Registering

(O B. Reconstruction

(O . Replaying
/(@ D. Recognizing

() E Recall
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+/ Question 3 1 point

Damage to the can result in anterograde amnesia.

(O A Prefrontal cortex
() B. Amygdala

O c. cerebellum

(O D. Parental lobes

(@ E. Hippocampus
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+/ Question 4 1 point

The material that you learn and retain from taking an AP psychology course s
representative of which type of long-term memory?

() A procedural
(O B. episodic
V@ C. semantic

(O . working

() E. declarative
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+/ Question 5 1 point

A factor that resuits in the decay of long-term memory is

A explicit memory

B. free neurons

O O O

C. lack of storage space
/(@ D. lackofuse

() E. processing speed
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+/ Question 6 1 point

The neural basis for learning and remembering associations involves the strengthening
of potential neural firing and is called

(O A long-term memory

/(@ B. long-term potentiation
(O C. action potential persistence
(O . short-term memory

(O E. hippocampal recording
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+/ Question 7 1 point

‘The function of sensory memory is most succinetly described as the
new information.

(O A remembering

() B. retaining

(O c. replaying
/(@ D. registering

(O E revision

of
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+/ Question 8 1 point

Which of the following is an example of relatively deep memory processing?

/(@ A Building a dollhouse for your little cousin
(O B. Listening to the words of a song
(O . Reading about current fashion trends in denim clothing
(O D. Watching a home improvement show on installing an indoor spa

(O E. Hearing about a congressional debate on gun control policy
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+/ Question 9 1 point

Information that can be recalled without apparent conscious effort s classified as:

O A explicit memory.
@ B. implicit memory.

() c. semantic memory.

(O D. episodic memory.

() E. None of these.
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+/ Question 10 1 point ~

You misplaced an item when you were upset about breaking up with your significant
other. You don't remember where you put it until you are again upset with your friend who
blames you for the break up. This is an example of

(O A Misattribution
() B. Confabulation

/(@ C. Mood-congruent memory
() D. Retrieval cues

(O E. Suggestibility
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+/ Question 1 1 point

f you canit see that a paper clip can be used to re-seal a half eaten bag of potato chips,
youmay be suffering from the effects of

V@ A functional fixedness
() B. leamed helplessness.
(O . confirmation bias
(O . availability heuristic

() E. mental set
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+/ Question 2 1 point

A person who can generate new ways of thinking about a problem or issue is
manifesting

(O A incubation

/(@ B. divergent thinking
(O €. convergent thinking
(O D. framing

(O E brainstorms
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+/ Question 3 1 point

‘The academic discipline that relies most heavily on algorithms for problem solving is

V(@ A mathematics

(O D. music

(O E psychology
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+/ Question 4 1 point ~

You are unlikely to yell out ‘penguin’ when asked on a game show to name a type of bird.
This is because

+/(® A. penguin doesnt it the prototype of a bird
(O B. youlackinsight
(O C. you are blocking the fact that penguins are birds
(O D. of overconfidence effects

(O E. of functional fixedness
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+/ Question 5 1 point

You only remember the one time a month when your horoscope seems to be right, and
forget all the times when it is wrong or irelevent. This is an example of

A. confirmation bias
B. mental set
availability heuristic
D. overconfidence

E. functional fixedness

OO0OO0O0®
o




image36.png
+/ Question 6 1 point

The formation of hypotheses that is central to the scientific method is an activity
involving

() A mental set
(O B. deductive reasoning
O c. algorithms

+/ (® D. inductive reasoning

(O E. concept formation
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+/ Question7 1 point

John decides that he doesnit want to go on a blind date with a computer programmer
because he's heard that those people tend to be shy and dull. He is demonstrating a
possibly incorrect judgment about the world that is based on:

/(@ A the representativeness heuristic
() B. functional fixedness
() c. latentleaming

(O D. insight

() E. the availability heuristic
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+/ Question 8 1 point

Welearned from the case of Phineas Gage that the prefrontal cortex is vital for
processes of

A language production
B. long-term memory
C. recognizing faces

D. concept formation

®@ OO0 OO0

E. reasoning and emotional control
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+/ Question 9 1 point

One of the least efficient methods of problem solving is the method.

O A inductive

O B. insight

O c. algorithmic
/(@ D. triakand-error

(O E. heuristic
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+/ Question 10 1 point

If you decide that you will not buy any pair of jeans that costs more than $100, you are
using for decision making.

(O A acompensatory method
(O B. aninsightbased method
(O ¢ analgorithm

(O . aninductive method

/(@ E. anon-compensatory method
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+/ Question 1 1 point

The rules for combining words into sensible sentences are called

V(@ A syntax
(O B. linguistic guidelines
() c. language
(O D. semantics

(O E. grammar
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+/ Question 2

1 point

On average, children learn from

O A 10,000-11,000

V(@ B. 35005000
O c. 10001500
O b. 500750

(O E. 20002500

words per year from ages 1 through 18,
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+/ Question 3 1 point

Nativist theorists believe that language is acquired and produced primarily through

(O A rewards and punishments

() B. cultural influences

() C. the presence of other humans

(O . interaction of the environmental and biological factors

/(@ E. the operation of inborn universal grammar
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+/ Question 4 1 point ~

The hypothesis of states that language shapes the way people think about
the world

A social learning
B. cultural learning
interaction

D. nativism

® OO OO0
o

E. linguistic determinism
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+/ Question 5 1 point

Which is the best example of thinking without language?

(O A Replaying your memories of last summer.

() B. Remembering how a song you like goes.

(O €. Using signs to communicate with your teammates in a flag football game.
(O D. Going over the instructions for operating a car before taking a driver's test.

/(@ E. Agymnast mentally rehearsing the moves of a floor routine prior to doing it.
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+/ Question 6 1 point

Holophrases or one-word sentences appear in the speech of most babies between

O A 46months

(O B. 2428 months
(O c. 1820 months
(O . 810months

(@ E 1014months
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+/ Question 7 1 point

22 month old Joey calls al fourlegged animals ‘doggie.” This is an example of

(O A poor grammar

(@) B. overgeneralization
() C. telepathetic speech
D. babbling

E. overregularization
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+/ Question 8 1 point

As her pet cat runs out the door, 2 year old Mary yells "Kitty go" This is an example of

A. overgeneralization
B. aholophrase
C. overregularization

D. kiddie slang

®@ OO0 OO0

E. telegraphic speech
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+/ Question 9 1 point

Three-year-old Sara tells you that she ‘goed" to the zoo today. This is an example of

(O A cognitive dysfunction
() B. telegraphic speech
(O c. babbling

(O . kiddie slang

(@ E. overregularization
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+/ Question 10 1 point

Strings of one-syllable sounds such as ma, ba, and la, are produced by most infants
during a distinct stage of language acquisition called

(O A cooing

() B. receptive acquisition
/(@ C. babbling

(O . phonemic speech

(O E holophrases
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+/ Question 1

1 point

Research suggests that the sexes differ in the

OO0 O0OO0®

A

c.

D.

E

expression and decoding
quality and quantity
experience

range

intensity and depth

of emotion.
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+/ Question 2 1 point

Which of the following is an example of extrinsic motivation?

(O A Finishing a 10K race to prove to yourself that you can do it
(O B. Listening to classical music for enjoyment

/(@ c. Finishing school work ahead of the deadline to get extra credit points
(O . Looking up sports statistics out of curiosity

(O E. Browsingin a clothes store for distraction
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+/ Question 3 1 point

‘The idea that behavior is preprogrammed and biologically determined is called

(O A incentive theory

(O B. arousal theory

(O c. drive reduction theory
/(@ D. instinct theory

() E. the hierarchy of needs
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+/ Question 4 1 point ~

Which of the following is an emotion that would likely be recognized by facial expression
in every world culture?

A. frustration
B. resignation
C. pride

D. boredom

®@ OO0 OO0

E. fear
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+/ Question 5 1 point

This theory proposes that emotions result from a cognitive interpretation of a
physiological response.

/(@ A Schacter's Two Factors
() B. Cannon-Bard
(O c. Optimum Arousal
(O D. James-Lange

() E. Yerkes-Dodson
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+/ Question 6 1 point

The aim of drive reduction is a balanced physiological state called

() A theneed state
/(@ B. homeostasis

(O . optimum arousal

() . selfactualization

O E equilibrium
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+/ Question 7 1 point

Which of the following is an example of a short-term cue for eating?

V(@ A Foodaroma
() B. Metabolic rate
(O c. Leptinlevels

(O D. Ideal weight

(O E setpoint
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+/ Question 8 1 point

The psychological scientist who'd be most likely to subscribe to the incentive theory of
motivation is

() A Abraham Maslow
/(@ B. BF Skinner

(O ¢. Carl Rogers

(O D. sigmund Freud

(O E. Julian Rotter
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+/ Question 9 1 point ~

You are happy in your position as an assistant manager in a sales firm until two of your
friends are promoted past you within the month. Your happiness has been diminished by
your sense of

(O A negative flow

() B. personal adaptation level

() C. subjective well-being
/(@) D. relative deprivation

() E. reduced achievement
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+/ Question 10 1 point

The base of the Maslow hierarchy is.

() A. Esteem needs or need for achievement
() B. Love and belonging needs

/(@ C. Essential needs such as food and sleep
() . self-actualization

() E. Safetyneeds
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+/ Question 1 1 point

Which is an example of an acute stressor?

(O A Along period of unhappiness in a committed relationship
() B. Aoneyear active duty stint in the military

() c. Aprolonged llness

(O D. An extended period of unemployment

/(8 E. Anearmiss car accident
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+/ Question 2 1 point

Hypertension and headaches may be triggered by stress. These condiions are referred
toas

() A factitious disorders
(O 8. malingering

/@ c. psychophysiological illnesses
(O . hypochondria

() E. psychosomatic illnesses
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+/ Question 3 1 point ~

A person who experiences a high level of subjective well being and attributes successes
1o hard work and talent s said to demonstrate

/(@ A leaned optimism
() B. general adaptation
() c. type Abehavior
(O D. positive psychological adjustment

() E. apositive adaptation level
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+/ Question 4 1 point

has been shown to have a positive effect on mood.

O A prayer

/(@) B. aerobic exercise
(O C. television watching
(O . type B behavior

() E. biofeedback
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+/ Question 5 1 point

Stress is best described as

O A astimulus
() B. adisorder
(O c. asyndrome
(O D. aresponse

/(@ E aprocess
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+/ Question 6 1 point

One of the best ways to manage and reduce stress is to find a

(O A religion

(O B. monogamous relationship
/(@ C. social support network

() D. high-paying career

(O E hobby
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+/ Question 7 1 point

One of the most effective ways to prolong life expectancy is to

A Attend church on a regular basis
B. Cultivate a positive outlook

C. Pray on a daily basis

O O O

+/(® D. Quitor avoid smoking

(O E. Drink alcohol moderately
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+/ Question 8 1 point

Amanis coping as well as he can with an extended period of unemployment. He is
experiencing the stage of the general adaptation syndrome called

() A. traumatic stress

/(@) B. resistance
(O . exhaustion

() D. acute stress

(O E alam
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+/ Question 9 1 point

Prolonged stress may increase vulnerability o illness by

/(@ A. suppressing immune function
() B. damaging the heart
(O . increasing the growth of cancerous cells
(O . causing colds and influenza

() E. increasing daytime sleepiness
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+/ Question 10 1 point

When stress is linked to increased psychological disorders, it referred to as

(O A traumatic

v @ B. toxic
C. chronic

D. acute

O O O

E. maladaptive
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+/ Question 1 2 points

The language acquisition theory that proposes the existence of a critical period for
learning speech is the:

(O A theory of linguistic determinism.
/(@ B. nativist view.

O c. behaviorist view.

(O D. the whole language view:

(O E. cognitive view.
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+/ Question 2 2 points

One of the functions of the ____is to regulate weight over the long-term.

() A pancreas

(O B. adrenal glands
O c. meddlla

() . gall bladder

/(@ E. hypothalamus




image73.png
+/ Question 3 2 points

Which is an example of behavior explained in terms of maintaining homeostasis?

(O A Aperson starts to smoke in order to look "cool.”
() B. Achild takes out trash to earn two dollars.

(O C. Aperson plays tennis because he enjoys it

(O D. Aperson eats a cookie to make his mother happy.

/(8 E. Aperson slesps because she is tired
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+/ Question 4 2 points

Which of the following is an emotion that would likely be recognized by facial expression
in every world culture?

O A Love
(@ B. Anger

(O C. Resignation

(O D. pride

(O E. Boredom
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+/ Question 5 2 points

Your mental plan for getting from home to the local convenience store is a type of:

O A availability heuristic.
O B. prototype.
O c. insight

(O D. association set.

(@ E. cognitive map.
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+/ Question 6 2 points

memory is another term for autobiographical memory.

O A Implicit
() B. Procedural
(O . semantic
(O D. Encoded

v @ E. Episodic
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+/ Question 7 2 points

A factor that limits the capacity of sensory memory

A storage space.

B. free neurons.

O O O

C. explicit memory.
/(@ D. attention.

() E. processing speed.




image78.png
+/ Question 8 2 points ~

The process by which the hippocampus encodes memories and prepares them for long-
term storage is called:

A. anterograde storage.
B. retention.

O c. capture.
/(@ D. long+term potentiation.

() E. synaptic transmission.
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+/ Question 9 2 points ~

John says "rose” when asked for the name of a flower, and "chair’ when asked for a type
of furniture. His answers could be characterized as:

O A insights.
(O B. conditioned responses.
() c. atypical examples

(O D. episodic memories.

(@ E. prototypes.
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+/ Question 10 2 points

Expressed in terms of operant conditioning, a child who whines and whines until his
parent buys him a candy bar has successfully the parent

(O A classically conditioned

() B. negatively punished
/(@ C. negatively reinforced

(O . positively punished

(O E. positively reinforced
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+/ Question 11 2 points

Driving, typing, and riding a bicycle are all representative of which type of long-term
memory?

(O A Episodic

(O B. Working

O c. Declarative
/(@ D. Procedural

(O E Semantic
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+/ Question 12 2 points

Which of the following is a good example of a secondary or conditioned reinforcer?

() A Hugs
() B. Sleep
O C. Pizza
/(@ D. Money

(O E Soda
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+/ Question 13 2 points

Which of the following would be considered least important in the process of social
learning?

/(@ A Trial and error
(O B. Imitation
(O c. Observation
(O . Availability of role models.

(O E Vicarious reinforcement
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/ Question 14 2 points

Which of the following is an example of intrinsic moltivation?

(O A. Participate in an office betting pool during the playoffs
+/(® B. Leam to play the piano in order to enjoy making music:

(O . Finish a marathon in order to brag about the accomplishment

(O D. Tumin extra credit school work for points

(O E. Buya new piece of clothing in order to receive compliments
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+/ Question 15 2 points

Chronic stress may raise vulnerability to certain illnesses by depressing the function of:

(O A thereticular activating system.

() B. the central nervous system.

(O C. the sympathetic nervous system.
/(@) D. the parasympathetic nervous system.

(O E. the kinesthetic system
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+/ Question 16 2 points ~

Sue thinks it is more dangerous to fly than it is to drive. She is demonstrating an incorrect
judgment about the world that is based on:

A. insight
B. latentlearning.

(O C. the representativeness heuristic.
/(@ D. the availability heuristic.

(O E. functional fixedness.
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+/ Question 17 2 points

According to Kobasa and Maddi, a person who reframes obstacles as challenges, and
maintains an optimistic view of his or her situation in spite of the occurrence of
stressors, possesses the characteristic called:

(O A self-actualized
V@ B. hardy.
O c. adjusted

(O D. optimistic.

QO E stressfree
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+/ Question 18 2 points

‘The inability to form and store new long-term memories is called

0000 ®

A. anterograde amnesia
B. retrograde amnesia.
C. source amnesia

D. decay.

E. blocking
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+/ Question 19 2 points

Aperson hears a classical piano sonata while eating a delicious meal at a fancy
restaurant. The next time the sonata is heard on the radio, the person becomes hungry.
Identify the neutral stimulus in the event.

() A The restaurant

(O B. The radio

() c. Themeal

(O . The fesling of hunger

/(@ E. Thepiano sonata
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+/ Question 20 2 points

The cause-and-effect relationship between Type A personality and heart disease only
appears to be valid in the case of those people who are:

(O A hard working.

V(@ B. hostile.

O ¢. successful.
() . extroverted

() E. depressed
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